
1

Este manual está disponible en español en la página de Eaton:  
Tripplite.Eaton.com/support
Ce manuel est disponible en français sur le site Web de Eaton :  
Tripplite.Eaton.com/support

Model:
N600P-288A-12

High-Density  
Fiber Patch Panel
2U with 12x Splice Cassettes,  
288x LC/APC SM 0.9 mm,  
1.5M Pigtail

Owner’s Manual



2

Description

M3*4 
Countersunk 
Head Screw

M4*6 
Countersunk 
Head Screw

 Black 
Velcro 

Tie

Single 
Splicing 

Protective 
Tube

Nylon 
Cable 
Ties

Spiral 
Wrapping 

Bands
Quantity 1 Pc. 4 Pcs. 1 Roll 288 Pcs. 10 Pcs. 1 Pc.

1. Product Overview

2. Package Contents

17
.1

 [4
35

]

3.8 [96.16] 6.3 [159.48]
18.5 [470.1]

INCHES [mm]

3.5 
[88]

19 [485]
18.4 [467.9]
17.9 [454] 



3

3.1 Installing the Panel
1.	 Unpack the panel chassis and shelf and place on a flat surface.

2.	 Install the shelf into back side of the chassis and secure the shelf using the 
included M4 screws.

Description M4*6 Screw
Quantity 4 Pcs.

3. Installation



4

3.	 Secure the M3 screw on the bottom middle of the chassis.

4. 	Install the panel into the rack.

Description M3*4 Screw
Quantity 1 Pc

3. Installation



5

3.2 Installing Cable
1. 	Remove the splicing cassette from the panel.

Note: When removing the cassette module, there is a bolt that prevents the module from being 
pulled out. The cable connected with the module should be pulled out first, followed by the bolt.

3. Installation



6

2.	 Remove the top cover of the cassette.
Note: 24 pcs. of LC pigtail have been preloaded into the cassette.

3.	 Splice the desired pigtail with the fiber drop cable in accordance with standard 
industry splicing practices. 

	 After splicing the fiber trunk cable, the fanout of the trunk cable should be 
attached to the shelf with the included nylon cable ties. Make sure there is 
enough cable slack so the cassette module can move back and forth freely. To 
prevent damage to the cables, make sure the cable is not intertwined.

3. Installation



7

11
Description Nylon Cable Tie

Quantity 10 Pcs.

22
Description Single Splicing Protective Tube

Quantity 288 Pcs., 24 Pcs. per module 

33
Description Spiral Wrapping Bands

Quantity 1 Pc.

44
Description Black Velcro Tie

Quantity 1 Roll

3. Installation

11

22

33

44



8

4.	 To insert the cassette back into the panel after splicing, first pull out the bolt 
and align the cassette with the panel with port 1 on the left. Then, push the 
cassette into the panel.

3. Installation



9

5. 	Once a cassette module has been spliced with a fiber drop cable, patch cords 
can be installed using the connections on the front of the cassette. 

	 To prevent the cable from bending, use the integrated cable loops on the 
module cover to organize cables. To prevent damage to cables, it’s 
recommended the left-most cable loop is used for ports 1 through 6, and the 
right-most cable loop is used for ports 7 through 12. 

For cables installed 
in ports 1 through 6,  
the left-most cable 
should be under 
 the cover.

For cables installed in 
ports 7 through 12, 
the right-most cable 
should be under the 
cover.

All the cabling should be under the integrated 
cable loops to prevent the cable from being 

damaged while being moved in and out.

3. Installation



10



11



12

Eaton has a policy of continuous improvement. Specifications are subject to change without 
notice. Photos and illustrations may differ slightly from actual products.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
United States
Eaton.com

© 2023 Eaton
All Rights Reserved
Publication No. 23-03-496 / 
9347A4_RevA 
October 2023

Eaton is a registered 
trademark.

All trademarks are property  
of their respective owners.

9347A4


